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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 905 2) 402 3) 503 4 701
- 79 - 12 -142 -_128 5
3
4,
5 401 6) 504 7 409 8 803 >
- 37 - 80 - 389 =563 6
7.
8.
9 602 10) 106 1) 101 12) 307 .
- 181 - 17 - 77 - 215
— — — 10.
11.
12.
13) 608 14) 603 15 401 16) 504 13.
- 378 -181 -110 -271
o 14.
15.
16.
17) 507 18) 201 19) 105 200 208 17
- 142 -200 - 59 —_170
18.
19.
20.
1-10 [95]90[85[80]75] 70] 65] 6055 [ 50
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
1 826
1) 905 2 402 3 503 4 701
- 79 - 12 - 142 -128 2 390
826 390 361 573
3 361
4 573
5 401 6) 504 7) 409 8 803 > 364
- 37 - 80 - 389 - 563 . a4
364 424 20 240
7. 20
8. 240
9 602 10) 106 1) 101 12) 307 9, 421
-181 - 17 - 77 ;215 89
421 89 24 92 10
1. 24
12 92
13) 608 14) 603 15) 401 16) 504 13. 230
-378 -181 -110 ;271
230 422 291 233 . 422
15, 291
16. 233
17) 507 18) 201 190 105 200 208 - 365
-142 - 200 - 59 ;170
365 1 46 38 18. 1
19, 46
20, 38
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
390 230 291 24 92
20 573 361 421 826 1.
422 424 89 364 240
2.
1) 905 2) 402 3 503 3.
- 79 - 12 - 142
4.
5.
6.
4 701 5 401 6) 504
- 128 - 37 - 80 .
8.
9.
) 409 8 803 9 602 10.
- 389 - 563 - 181
— — — 11.
12.
13.
100 106 1) 101 12) 307
- 17 - 77 - 215 1
15.
13) 608 14) 603 15) 401
- 378 - 181 -110
M odified 1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
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